ZEISSFRIRCRERT SFEHF
WREFER SFI1—ABEHE 0% 1 = 7 )55 KT

= O 2 T — E S S
mAiEREI—X (ER&Y) O35 3 chilfff = Tt > & V) TUF R

- O% 4 i = — 73 S—HER T — N3 0 0m
[42.195km] T108% ~ 13 6§ Hr{RliETAL | O & it — B BT
T Y N—IFEEY) O 6 LT —BEEA— N+ 718

Q% 7 XImR=7F Uk
J-) =RIEREESH (REASECEHR)

RS REEES QP

FHaE RERBEASE
iz : | D VA S (6 44} EP%&PE

\{nfv"

O 1 chkFR @A

1B
knfﬁﬁ%ﬁﬁ%ﬁﬁ N\ _/Z

sonEs
—
gk SIS E@,&azt&

IMESTERIS
OS5 3chiikER

fo— F R e s

OE7XIMRR

==

@5 2hHAFR

LAKNS:
EroE  OESTH

30

| |
20
T I - N\ ~\ A
/ \ 4 \ J \ v I| \ v J
0
S 5 10 15 20 25 30 35 40

=ER(BF)




ESFERICRERE
LINRFEE FI1—AEE
mHEREIO—X (KERY)
[21.0975 km] 11065 ~ 13 B5 K- (UETLE]

XT 2 N—IRERY

JL ( RSREENS
s1nEs JA  mRstS RSREGER
kﬁ?ﬁé@ﬁﬁiﬁi’%\\. /-\/m
)
AN
~e

R F PR

AI—b =L R M\ RFIETES

£ 1 hF=@tL 7 bk

E 2 =REA 2 S &l

55 3 thilkpR = FEAlR S BT IS
FBADRA=FTF+ > TBNRE
E5XIME=5K5 A M 1km~#7380m

J-) =REREHESH (BEES3SEER)

‘ 01 qﬂﬁ;ﬁ

@E / ®tL7 bk

=P e E/——. =
S JU | OE ATk
REABTET CIPPIN HBRFr S8R E
J-) =
O FE2ch R :
IS{EETEIS AV
O XIRS
O 3chiltf
‘A (&— B R e
' /)
(
Y
2
18 IN \ \ I’M
S 5 10 15 20 G
EIER (ZF)




